
1.ANSWER= F 

2.ANSWER= A 

3.ANSWER= -A 

4.ANSWER= E 

5.ANSWER= V 

6.ANSWER= -W 

7.ANSWER= Z 

8.ANSWER= I 

9.ANSWER= X 

10.ANSWER= -B 

 
 

Lowercase x is the variable, and capitalized X is the number in the code! 

 

1. x-E=A  ANSWER                +                   =               _ SOLVE            _ 

2. Cx=C  ANSWER                +                   =               _ SOLVE            _ 

3. -Bx+C=E ANSWER                +                   =               _ SOLVE            _ 

4. I+C(B)=Cx ANSWER                +                   =               _ SOLVE            _ 

5. K(F)=Cx ANSWER                +                   =               _ SOLVE            _ 

6. x+X=A  ANSWER                +                   =               _ SOLVE            _ 

7. (T+F+W)-W=x ANSWER                +                   =               _ SOLVE            _ 

8. G+G-E=x ANSWER                +                   =               _ SOLVE            _ 

9. x/C=H  ANSWER                +                   =               _ SOLVE            _ 

10. Dx+M=E ANSWER                +                   =               _ SOLVE            _ 

                                                                                                                  Made by Caden Price 
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